11.43 m

THIS DRAWING IS TO BE USED FOR LOW-VOLUME LOCAL ROADS

(ADT < 400)

ONLY

19 mm DIA. CABLE X 2.0 m W/
SWAGE FITTINGS (SEE SM-GR-28)

3.81 m (TRANSITION)

7.62

m TYPE 21 GUARDRAIL TERMINAL ANCHOR

|——B

—

|
POSITIONED IMMEDIATELY DOWNSTREAM OF SLOTS.

DEFLECTOR ANGLE OF SLOTGUARD SHOULD BE

SLOT GUARD ASSEMBLY
(SEE SM-GR-2T)

CONCRETE BRIDGE RAILING
(SEE DRAWING NO. STDM-1-1 FOR DETAILS)

3.81 m OF W-BEAM GUARDRAIL WHICH
IS TO BE TWO SECTIONS THICK WITH ONE

SECTION IN FRONT OF THE OTHER (NESTED)

8 - MI6 X 32 mm BUTTON
HEAD BOLTS AND NUTS
REQUIRED FOR EACH
SLOT GUARD ASSEMBLY
(SEE SM-GR-27)

—t AL z
\ /ﬁ, — L-_B \ PLAN \

BEND RAIL AT POST NO. 4 AND
CREATE STRAIGHT TAPER FROM
0 TO 460 OVER 5.715 m

ANCHOR PLATE ASSEMBLY
(SEE SM-GR-28)

DO NOT ATTACH RAIL
POST NO. 2

\

T0

TRAFFIC

——————

END TERMINAL ELEMENT
(SEE SM-GR-15)

6 mm X S50 mm HEX HEAD LAG SCREWS
TO PREVENT PLATE ROTATION
THRU 8 mm DIA. HOLES IN PLATE & BENT

127

254

M16 X 35 mm BUTTON
HEAD BOLTS AND

|__|_— NUTS (SEE SM-GR-14)

(SEE SM-GR-15 FOR TERMINAL DETAIL)

M16 X 457 mm BUTTON
HEAD BOLTS,
NUTS, AND WASHERS
THROUGH 19 mm DIAMETER
HOLE (SEE SM-GR-12)
ATTACH RAIL TO

200 mm X 150 mm X
1830 mm WOOD POST

7

POST NOS. 3 & 4 ™
L—b —1
- GUARDRAIL AND
200 mm X 150 mm X 355 mm (SEE Su-GR-21)
BLOCKOUT S L
(SEE SM-CR-13) Baatell 2 Bhauted
406
1830
lo| —+ 60 mm DIA.
HOLE
30 mm DIA,
HOLES 3
LY
;
@ —

200 mm X 150 mm X
1080 mm WOOD POST

M16 X 255 mm BUTTON

P HEAD BOLTS,

NUTS, AND WASHERS
THROUGH 19 mm DIAMETER
HOLE. DO NOT ATTACH
RAIL TO POST NO. 2

‘\

M16 X 32 mm BUTTON HEAD BOLTS,
AND WASHERS TO BE INSTALLED
THRU ENLARGED AREA OF SLOT

NUTS,

51 mm X 150 mm PIPE SLEEVE
INSERTED INTO POST NO. 1

M16 X 240 mm HEX HEAD BOLTS, NUTS, AND WASHERS (SEE SM-GR-28)

458 mm X 610 mm X 6 mm SOIL PLATE (SEE SM-GR-28)

203 mm X 152 mm X 4.8 mm STEEL TUBE SLEEVE 1525 mm LONG
(SEE SM-GR-28)

200 mm X 152 mm

A=

M16 X 190 mm HEX HEAD BOLTS, NUTS, AND WASHERS (SEE SM-GR-ZB)/

X 10 mm PLATE
WASHER

1495

_——/

1073 mm WOOD POST

203 mm X 152 mm X 16 mm
SLOTTED BEARING PLATE

100 mm X 76 mm

381

WITH STANDARD
COPY: BLACK

381

STRIPES AT 45° TOWARD THE TRAVELED
WAY.

BACKGROUND: YELLOW (IN ACCORDANCE

SPECIFICATION 916.06)

GENERAL NOTES

POST SPACINGS SHOWN.

@ SEE STANDARD DRAWING RDMO1-TS-1A FOR DETAILS AND SPECIFICATIONS
REGARDING DESIGN STANDARDS FOR LOW-VOLUME LOCAL ROADS.

THE POST OFFSET DIMENSIONS ARE GIVEN TO THE CENTER OF THE
TRAFFIC FACE OF THE BLOCKOUTS, EXCEPT AT THE FIRST TWO POSTS,
WHERE THE DIMENSION IS TO THE CENTER OF THE TRAFFIC FACE OF

OFFSET POINTS ARE TO BE LOCATED BY CHORD

MEASUREMENTS AT THE BACK OF THE RAIL EQUAL TO THE NOMINAL

POSTS ARE TO BE SET APPROXIMATELY

RADIAL TO THE RAILINGS AT EACH POST LOCATION.

@ OMIT THE RECTANGULAR WASHER BETWEEN BUTTON HEAD BOLT AND RAIL
ON POST NOS. 2 THROUGH 5.

TYPICAL POST SPACING AT 1.905 m - ITEM NO. 705M02.02 L 7.620 m - [TEM 705M04.04
T
578 952.5 952.5 , 952.5 . 952.5 | 1.905 m | 1.905 m | 1.905 m \ | 1.905 m
16 _—| | —l —l | T T T
|_—I_—M16 X 32Tl|'lll BUTTO_Il_i
- HEAD BOLTS AND NUTS — -
= — [ —— o] T
o| |[S - - [BiES 1 = Mlee— INlesmmr—
© 3 ~~—__SPECIAL SLOTTED SPECIAL SLOTTED
1 1 1 GROUND LINE RAIL ELEMENT RAIL ELEMENT
1 1 1 \ (SEE SM-GR-2T7) (SEE SM-GR-27) | |
Mo o WL o L IR~ e
\ / | : | | : | | : | / | \ANCHOR PLATE ASSEMBLY "
CONCRETE BRIDGE RAILING BACK UP PLATE |, (ANCHOR PLATE; 8 - M6 | |
(SEE SM-GR-27) X 38 mm HEX HEAD
(SEE DRAWING NO. STDM-1-1 FOR DETAILS) ||| ||| ||| | | | | | | | BOLTS. NUTS, AND |
1 1 1 WASHERS, AND 19 mm DIA.
|I |I| |I| | | | | | | | CABLE X 2.0 m | |
W/SWAG FITTINGS)
A —_ |_| |_| | | (SEE SM-GR-28) | |
| 813 [~ 25 O] ©) | | | |
||_ W150 X 14 STEEL OR ELEVATION =Y Y
NNIN F
BRIDCERAIL . 200 X 150 X 1830 mn WOOD POST 200 mm ¥ 150 mm x 1830 mm WOCO POST @ @
~
b 3.810 m OF W-BEAM GUARDRAIL WHICH IS TO BE TWO
< o~ - SECTIONS THICK WITH ONE SECTION IN FRONT OF THE OTHER
” T $--—4- — 22
n _ 7 —
n\
M\
© N
S 3 2
[t}
300 THE POST.
MIN.
q
76 578 | 18
762
ENLARGED DETAIL FOR GUARDRAIL SECTION A-A
ATTACHMENT TO CONCRETE BRIDGERAIL T
SECTION B-B

M16 X 255 mm BUTTON
X HEAD BOLTS,
NUTS, AND WASHERS
(NEED 1 ROUND AND 1
SOUARE WASHER)

END TERMINAL
ELEMENT
(SEE SM-GR-15)

19 mm DIA. CABLE
X 2.0 m W/SWAG
FITTINGS; M25 HEX
HEAD NUT AND
WASHER FOR M25
STUD (SEE SM-GR-28)

200 mm X 150 mm X 16 mm

SLO
PLATE

TTED BEARING
(SEE SM-GR-28)

JHETRIO

N A

6 mm X 50 mm HEX HEAD
LAG SCREWS TO PREVENT
PLATE ROTATION THRU 8 mm DIA.

ALL UNITS ARE IN MILLIMETERS
UNLESS NOTED OTHERWISE.

HOLES IN PLATE & BENT

[0 MINOR REVISION -- FHWA
APPROVAL NOT REQUIRED.

102 mm X 76 mm X 10 mm
PLATE WASHER
(SEE SM-GR-28)

STATE OF TENNESSEE
DEPARTMENT OF TRANSPORTATION

<
N3 ELEVATION VIEW AT POST NOS. 3 & 4 ELEVATION VIEW AT POST NO. 2 ELEVATION VIEW AT POST NO. 1 TO BRIDGE END
g FOR LOW - VOLUME
o5 LOCAL ROADS
&% (ADT<400)
S8
L 3-15-07 | SM-GR-23A
a8

GUARDRAIL ATTACHMENT

smgr23a_000000.dgn 9/20/2007 10:48:43 AM





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


